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QUESTION 1

Given the following two table definitions, select one SQL statement which will cause an error.
CREATE TABLE samplel (id INTEGER, data TEXT);

CREATE TABLE sample2 (id INTEGER);

A. SELECT id AS data, data FROM samplel,;

B. SELECT id, id FROM samplel;

C. SELECT sl.id, s2.id FROM samplel AS s1, samplel AS s2;

D. SELECT sl.id, s2.id FROM samplel s1, sample2 s2;

E. SELECT sl.id, s2.data FROM samplel s1, sample2 s2;

Correct Answer: E

QUESTION 2

Select the correct result generated by execution of the following SQL statements: CREATE TABLE log (id
int, message TEXT, logtime TIMESTAMP); CREATE TABLE log_01 () INHERITS (log);

INSERT INTO log_01 VALUES (1, \Verror\\', CURRENT_TIMESTAMP); SELECT * FROM log;

A. First W\CREATE TABLE\\' generates a syntax error.

B. Second WCREATE TABLE\\' generates a syntax error.

C. WINSERT\\' statement generates an error stating that the number of columns and values do not match".
D. \WSELECT\\' statement returns 0 rows, and exits successfully.

E. WSELECT\\' statement returns 1 row, and exits successfully.

Correct Answer: E

QUESTION 3

Select two suitable statements about postgresql.conf configuration.

A. A line that starts with ! (exclamation mark) is interpreted as a comment.

B. You can have different parameters for the same option to configure each database differently.

C. The timing of when a change in any value is reflected is different depending on the configuration parameter.

D. All options have no default values. Therefore, all of them must be set specifically and thoroughly.
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E. As a boolean value, any of the following can be used: TRUE, FALSE, ON, OFF, YES, NO, 0.1

Correct Answer: CE

QUESTION 4

Select the SQL command that must be executed prior to executing the EXECUTE command.
A. CREATE FUNCTION

B. PREPARE

C. DECLARE

D. LOAD

E. ALLOCATE

Correct Answer: B

QUESTION 5
Select the most suitable statement about the creation of a new database.
A. Only a PostgreSQL superuser is authorized to create a new database.

B. The target directory is specified by the environment variable PGDATA or the -D parameter when creating a
database.

C. Only one database can be used at the same time even if two or more databases are created.
D. Only the OS superuser (root) can create databases.
E. You can set the character encoding when creating a new database.

Correct Answer: E
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